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ENGLISH VERSION

Instructions :

(1) All questions carry equal marks.

(2) Answer all the questions on the basis of internal option.

Explain the importance of Agriculture sector in
Indian Economy.

OR

14

What is Green Revolution ? Explain the factors affecting 14

to Green Revolution.

What i1s Agriculture Economics ? Explain the
characteristics of Agriculture Economics.

OR

Discuss the problems of agriculture labour in India.

Explain the meaning and importance of price stability
of agriculture product.

OR

Explain the remedies step taken by the Govt. for
solution of problems of agri. labour.

Explain the necessity of agriculture mechanization
in India.

OR

Explain the constitution and functions of Agriculture
price commission.

Write short note on any two from following :

14

14

14

14

14

14

14

(1) Remedial steps to increase Agriculture productivity.

(2) Types of Agriculture Labour.
(8) Causes for low productivity in Indian Agriculture.
(4) Limitations of Green Revolution in India.
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